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Binomial problems: Basic

o QUESTION

The workers' union at a particular university is quite strong. About 96% cf all workers employed by the university
belong to the workers' union. Recently, the workers went on strike, and now a local TV station plans to intervi

workers (chosen at random) at the university to get their opinions on the strike, What is the probability thﬁa:tlv 2 \
of the workers interviewed are union members?

Round your response to at least three decimal places. (If necessary, consult a list of formulas.)
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Binomial problems: Basic
© ousson n= b’
The workers' union at a particular university is quite strong. About 98% of all workers employed by the university 7( # 3
belong to the workers' union. Recently, the workers went on strike, and now a local TV station plans to interview 4 2 q (a
Warkers (chosen at random) at the university to get their opinions on the strike. What is the probability that exactly 3 ? = .6 _\
of the workers interviewed are union members? - \ ~qL~=
Round your response to at least tﬁedea_&lpli:ﬁ, (If necessary, consult a list of formulas.) - I ) F -
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> are finding
3 n 4 Type in from problem
4 X 3 Type in from problem (not needed to find mean or standard deviation)
5 [ 0.96 Type in from problem (as decimal)
6 q 0.04 =1-B4
74
8 Mean 3.84 =B3*B4
9 Standard Deviation 0.3919183588  =sqrt(B3*B4*B5)
% Hs 0 s oW
mees i excetly 2
1 p(x) 0.14155776  =BINOMDIST(B4,B3,B5,0)
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